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100.00 50.0i 71.4: 14.31 14.3: 64.31 21.4 7.1 7.1 - - -
FaERT 22 6 10 7 3 15 2 1 - 1 1 -
100.00 27.3i 455! 31.8] 13.6! 68.2 9.1 4.5 - 4.5 4.5 -
ALl 8 5 5 1 - 6 - - - - - -
100.00 62.5i 62.51 12.5 - 75.0 - - - - - -
=R 18 10 9 7 1 8 1 1 - - -
100.00 55.6i 50.0i 38.9 5.6/ 444 11.1 5.6 5.6 - - -
=IRET 5 1 2 1 - 2 - - - 1 - -
100.00  20.0i 40.0{ 20.0 - 40.0 - - - 20.0 - -
E =87 15 8 8 8 2 10 2 2 2 1 1 1
100.00 53.3i 53.3! 53.3] 13.3/ 66.7 13.31 13.3: 13.3 6.7 6.7 6.7
HRET 9 3 4 1 1 7 - 1 1 - - -
100.00 33.3i 444 11.1 11.1. 77.8 - 11.1 11.1 - - -
= ERET 24 8 15 6 5 19 1 - 1 - - -
100.00 33.31 62.5! 25.0f 20.8! 79.2 4.2 - 4.2 - - -
= 21 6 8 4 7 12 2 2 1 1 1 -
100.00 28.6: 38.1 19.01 33.3. 57.1 9.5 9.5 4.8 4.8 4.8 -
FEKER 6 3 47 1 3 17 : - : :
100.00 50.0: 66.7 - 16.7, 50.0f 16.7 - - - - -
AILET 8 4 5 3 1 3 - 1 1 - - -
100.00 50.0i 62.5: 37.5{ 12.5: 37.5 - 12.5: 12.5 - - -
JIIFaHT 13 4 7 4 1 9 2 - - - - 1
100.0/ 30.8: 53.8! 30.8 7.7, _69.21 15.4 - - - - 7.7
ZREEET 7 5 2 6 1 5 - - 1 - - -
100.00  71.4: 28.6i 85.7, 14.3. T71.4 - - 14.3 - - -
P9) 18T 17 8 11 7 5 9 3 2 2 2 1 -
100.0f 47.1i 64.7i 41.21 29.4. 52.9. 17.6 11.8 11.8 11.8 5.9 -
B 2 2 207 - 2 ¢ - : . - :
100.0! 100.0:i 100.0 - - 100.0 - - - - - -
MEZERT 5 4 5 2 3 3 2 1 1 - - -
100.0/ 80.0: 100.0{ 40.0{ 60.0f 60.0{ 40.0{ 20.0{ 20.0 - - -
SEIERET 5 3 2 - - 4 1 - - - - -
100.00 60.0i{ 40.0 - - 80.01 20.0 - - - - -
=BT 14 5 12 2 4 9 1 1 1 - - -
100.0f 35.7i 85.7. 14.31 28.6. 64.3 7.1 7.1 7.1 - - -
Bz S8 8 6 6 3 4 3 2 - - . N
100.0f 75.0i 75.0{ 37.51 50.0f 37.51 25.00 12.5 - - - -
R EEET 3 2 1 2 - 1 - - - - - -
100.00 66.71 33.3] 66.7 - 33.3 - - - - - -
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£ LXK BZD TBDH HT fh i
HWVWDSITEMBIR = [@]
NI HICE | D &K F S
® nx \ICIEED 0
M b oYt ya
5L Bh =E AN
2 {K 99 29 52 7 4 5 2
100.0f 29.3! 52.5 7.1 4.0 5.1 2.0
=0 28 5 17 3 - 3 -
100.0: 17.9: 60.7. 10.7 - 10.7 -
el 12 5 6 1 - - -
100.0: 41.7: 50.0 8.3 - - -
FERE T 7 2 3 - 1 1 -
100.0; 28.6. 42.9 - 14.3:.  14.3 -
Hegm 10 3 6 1 - - -
100.01 30.0: 60.0f 10.0 - - -
Y 4 2 1 - 1 - -
100.0: 50.0i 25.0 - 25.0 - -
==k 7 3 2 - 1 1 -
100.0; 42.9: 28.6 - 14.3; 14.3 -
BT 1 - 1 - - - -
100.0/ - 1100.0/ - - - -
FEERTT 9 4 4 - - - 1
100.0| 44.4 444 - - - 11,1
AU 2| - - 11 - - T
100.0/ - - 50.0 - - 50.0
=h% 1 - 1 - - - -
100.0/ - 1.100.0/ - - - -
AT T 1T - - - - -
100.0/ 100.0] - - - - -
E=8T 2 2 - - - - -
100.0/.100.0/ . - - - - -
TEHET 1 1 - - - - -
100.0/ 100.0 - - - - -
=il 5 - 5 - - - -
100.0/ - 100.0/ - - - -
Hr=HT 2 - 2 - - - -
100.0/ - 1 100.0/ - - - -
(i =2 - - - - - - -
ARIRET 1 - 1 - - - -
100.0, - 1100.0, - - - -
JIFalT 2 - 1 1 - - -
100.0| - 50.0, 50.0| - - -
ER AT 1 - 1 - - - -
100.0/ - 1100.0/ - - - -
F9)1|ET - - - - - - -
BN - - - - - - -
MEZERT - - - - - - -
SESRRET - - - - - - -
=T HEET 2 1 - - 1 - -
100.0/ 50.0. - - 50.0, - -
=il - - - - - - -
T4 ERT 1 - 1 - - - -
100.00 - [100.0/ - - - -
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29 Y0575 —1ICDWT. EDLSIRCENHBIZERBVEITH, J:Eﬁr)\(fiﬂz;
TE-% (B
23 ] 2 = & & P E 5 =3 z = =
% ’ 5 % B A i3 1k e ) 1 &l
n X . . £ (5] ] & # AN %
1 73 = # 7 % % %) %) W
% W B 15 2 2
= BE B
2 {K 2031 930 849 720 1267 516 949! 1036, 1197 1665 76 52 66
100.0f 45.8. 41.8: 35.5] 62.4] 25.4. 46.7. 51.0{f 58.9: 82.0 3.7 2.6 3.2
G 775 366 341 282 502 204 365 422 474 641 23 23 20
100.01 47.2: 44.0; 36.4] 64.8. 26.3. 47.11 545/ 61.2; 82.7 3.0 3.0 2.6
il 305 149 138 105 192 81 149 158 175 242 15 7 12
100.0i 48,9 45.2: 344 63.0i 26.6: 48.9 51,8/ 57.4: 79.3 4.9 2.3 3.9
HERAT 211 100 91 81 127 56 103 104 130 180 8 5 7
100.01 _47.4: 43.1. 38.41 60.2i 26.5: 48.8] 49.31 61.6. 85.3 3.8 2.4 3.3
Hram 99 40 37 35 49 22 36 50 55 75 5 1 6
100.0i 40.4: 37.4: 354 49,51 222 36,4, 50,51 556 75,8 5.1 1.0 6.1
INFRT 78 31 29 22 49 14 41 34 46 65 3 2 2
100.0i 39.7. 37.2i 282 62.8 17.9 52,6/ 43.6/ 59.0! 83.3 3.8 2.6 2.6
HEm 76 34 32 33 53 29 40 38 45 65 3 2 1
100.0i 44,7 4211 43,41 69.7. 38.2. 526/ 50,0/ 59,2/ 855 3.9 2.6 1.3
=Yl 26 13 10 9 16 4 16 16 17 19 - - 1
100.00 50.0. 38.5! 34.6/ 61.5! 15.4. 61.5| 61.51 65.4. 73.1 - - 3.8
ik sl 54 20 17 14 26 8 17 21 23 42 4 1 2
100.0: 37.0; 31.5: 25,9/ 48.1 14.8: 31.51 38.91 42.6! 77.8 7.4 1.9 3.7
ANl 27 16 16 14 20 12 17 17 20 24 1 1 1
100.0i 59.3: 593! 51,9 74,1 444 63.0/ 63.0{ 74.1. 88.9 3.7 3.7 3.7
=REHT 52 18 19 17 27 10 21 29 25 40 1 - 2
100.0: 34.6: 36.5: 32.7. 51,9 19,2 40.4, 558! 48.1. 76.9 1.9 - 3.8
=ERET 12 4 4 4 3 1 2 3 4 8 1 - 1
100.0; 33.3: 33.3: 33.3. 25.0 8.3, 16.7i 25.0{ 33.3; 66.7 8.3 - 8.3
E=ZT 41 18 17 15 31 11 18 21 24 33 1 1 -
100.0i 43.9: 41.5: 36,6/ 75.6i 26.8 43,9 51,21 585/ 80.5 2.4 2.4 -
TEET 12 7 2 4 9 3 6 4 8 11 - 1 -
100.0f 58.3: 16.7: 33.3] 75.0i 25.0i 50.0f 33.3] 66.7. 91.7 - 8.3 -
=EEET 45 26 18 16 31 12 21 26 35 42 3 - -
100.0i 57.8: 40.0: 35.6/ 68.9i 26.7 46.7, 57.8! 77.8. 93.3 6.7 - -
Hr=fr 37 14 10 7 17 7 15 16 14 27 - 2 3
100.0i 37.8: 27.00 18.9. 45.9i 18.9 40.5] 43.21 37.8. 73.0 - 5.4 8.1
ERER 7 4 3 4 5 2 3 2 5 7 - - -
100.0i 57.1. 42.9: 57.1 71.41 28.61 42.91 28.6/ 71.4: 100.0 - - -
AIET 13 3 5 5 7 2 5 4 7 13 - - -
100.0f 23.1: 38.5! 38.5] 53.8/ 15.4: 38.5| 30.8 53.8 100.0 - - -
JI|EEHT 31 15 9 12 19 8 15 15 18 25 1 - 2
100.01 48.4. 29.0: 38.7. 61.3i 258 48.4! 48.4! 58.1. 80.6 3.2 - 6.5
el 17 7 4 5 12 5 6 5 10 15 1 1 -
100.00 41.2: 23.5: 29.4 70.6! 29.4: 35.3] 29,4/ 58.8 88.2 5.9 5.9 -
FSJIBT 38 19 20 14 28 8 26 17 19 31 2 4 -
100.0! 50.0{ 52.6! 36.8/ 73.7 21.11 68.4 44.7! 50.0; 81.6 5.3/ _10.5 -
SR 3 - - 1 2 - 1 1 1 2 - - -
100.0 - - 33.3/ _66.7 - 33.3] 33.3] 33.3. 66.7 - - -
HEZEN 7 3 2 2 3 3 3 2 5 6 - - 1
100.0: 42.9. 28.6: 28.61 42,9 42,9 42,9 28.6! T71.4. 85.7 - - 14.3
SEIRRET 11 3 5 2 7 3 3 5 6 i - - -
100.0; 27.3. 45.5! 18.2/ 63.6. 27.3. 27.31 45.5] 54.5 100.0 - - -
=TEET 26 8 10 8 19 5 9 12 16 21 - 1 1
100.0; 30.8; 38.5i 30.8. 73.1 19.2: 34.6, 46.21 61.5/ 80.8 - 3.8 3.8
Hz 8T 15 7 6 7 9 4 7 10 10 13 1 - 1
100.0i 46.7: 40.0: 46.7, 60.0i 26.7. 46.7, 66.7, 66.7. 86.7 6.7 - 6.7
R4 EET 10 4 3 1 3 1 3 3 4 6 3 - 1
100.0{ 40.0{ 30.0{ 10.0{ 30.0{ 10.0{ 30.0{ 30.0{ 40.0i 60.0{ 30.0 - 10.0
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B30 VI 75— 1ERONBZIEE - FEENVDEEG. EDKL S BEHEHPEEN G D &

HRUPTVREBEDSVICDRNRD EBLETH, LB A (S
TE % (BIG
s F ICH MBE x| OF | g82 | #EHH (&WBICIC- F 5
B ad ”w HAE BER cm | B T4 | B NHRIEEAY D Iz
2 By Iz A OB T | - HE | DT 2H T & i
ov LiE| BO HLLB DX | 2E | HhB e 39 T [E]
na B O (»5a /| el Pl A "o &y [FS &
L2 »7 = WA | 2Dk | B ED X0 h&i #7 x
33 A HE ZHOD mc- T | 9F no ®3 )
Z | paN 20 |&M% 7] HS | WE Uiy % £
o & 1T B PR B8 | N iz B P fl- )
=) 3 E i T | ZS o & TE KO 3
A Z 1 0] b | & 2N iy Wiz, »x A
) & ] sk ) T =] = D 38 (A
2 K 2031; 1207 1096 814 620 603 1165 984 937 997 582 62 26 66
100.0f 59.4! 54.0{ 40.1{ 30.5{ 29.7! 57.4| 48.4! 46.11 49.1i 28.7 3.1 1.3 3.2
G 775 4781 447 300 230 225 484 385 365 404 239 17 16 15
100.0i 61.7{ 57.7. 38.7i 29.7: 29.0{ 62.5| 49.7] 47.1 52.11 30.8 2.2 2.1 1.9
ik 305 189 163 117 90 94 176 153 137 153 77 10 3 7
100.0i 62.0f 53.4 38.4 29.5! 30.8! 57.7| 50.2! 44.9! 50.2{ 25.2 3.3 1.0 2.3
HERE T 211 131 103 86 67 75 121 98 109 117 70 12 1 7
100.0f 62.1i 48.8. 40.8] 31.8: 35.5{ 57.3| 46.4; 51.7; 55.5{ 33.2 5.7 0.5 3.3
Beam 99 61 56 47 39 33 52 47 43 46 27 4 - 6
100.0i 61.6! 56.6: 47.51 39.4: 33.31 52.5| 47.51 43.4! 46.5] 27.3 4.0 - 6.1
INFRTH 78 42 45 26 17 24 41 38 30 27 19 3 2 2
100.0{ 53.8! 57.7. 33.3] 21.8: 30.8! 52.6| 48.7! 38.5! 34.6! 24.4 3.8 2.6 2.6
Bt 76 39 44 22 19 20 57 41 40 40 26 2 - 1
100.0i 51.3! 57.9; 28.9{ 25.0i 26.3] 75.01 53.9/ 52.6! 52.6{ 34.2 2.6 - 1.3
Sl 26 17 10 12 9 6 10 13 16 11 7 - - 1
100.0i 65.4, 38.5\ 46.2. 34.6. 23.1] 385 50.0{ 615 42.3. 269 - - 3.8
PEER™ 54 33 28 23 9 12 25 26 19 22 7 1 - 5
100.0i 61.1 51.91 42.6! 16.7] 22.2! 46.3! 48.1 35.2. 40.7. 13.0 1.9 - 9.3
Z0M™H 27 15 10 11 11 8 i 14 12 11 9 - - 3
100.0i 55.6/ 37.0. 40.7{ 40.7: 29.6! 40.7, 51.9/ 44.4! 40.7, 33.3 - - 11.1
=R&HET 52 26 31 25 21 14 30 27 30 28 10 - - 2
100.0i 50.0f 59.6; 48.1i 40.4: 26.9 57.7\ 51,9/ 57.7. 53.8{ 19.2 - - 3.8
=R ET 12 6 4 4 3 - 4 3 1 3 - - - 1
100.0i 50.0/ 33.3] 33.3] 25.0i - 33.3] 25.0 8.3 25.00 - - - 8.3
EZEE 41 29 20 25 14 16 24 19 18 21 12 2 - -
100.0i 70.7! 48.81 61.0{ 34.1i 39.0{ 58.5| 46.3! 43.9! 51.2{ 29.3 4.9 - -
EET 12 7 7 5 2 1 6 7 4 4 6 1 - -
100.0i 58.3! 58.31 41.7| 16.7 8.31 50.0{ 58.3. 33.31 33.3: 50.0 8.3 - -
= sAET 45 22 26 21 16 14 26 27 25 20 10 1 - -
100.0i 48.9! 57.8] 46.7| 35.6 31.1, _57.8/ 60.0/ 55.6, 44.4; 22.2 2.2 - -
=T 37 16 11 12 10 11 13 11 11 13 14 1 - 4
100.0i 43.2i 29.7. 32.4 27.0i 29.7. 35.1} 29.7! 29.7! 35.1i 37.8 2.7 - 10.8
FEREAR 7 4 3 4 4 2 4 2 3 5 1 - - -
100.0i 57.11 _42.9. 57.1 57.1i 28.61 57.11 28.6i 42.91 71.4. 14.3 - - -
ARIET 13 6 8 6 1 1 6 6 4 7 2 - - -
100.0i 46.2i 61.5 46.2 7.7 7.7 46.2 46.2i 30.8/ 53.8. 15.4 - - -
JI|R5HT 31 15 13 14 9 5 13 10 12 13 9 1 - 3
100.0i 48.4! 41.91 45.21 29.0i 16.11 41.9} 32.3! 38.7. 41.9{ 29.0 3.2 - 9.7
ERRAT 17 9 7 4 6 3 9 10 9 11 4 1 1 -
100.0i 52,9} 41.2: 23.51 35.3: 17.6/ 52.9 588 52.9 64.7. 23.5 5.9 5.9 -
P9I ET 38 17 19 16 12 11 16 18 15 13 12 2 3 2
100.0i 44.7! 50.0; 42.1i 31.6i 28.9/ 42.11 47.4] 39.5! 34.2] 31.6 5.3 7.9 5.3
Eacan 3 2 2 3 2 1 2 1 3 1 1 - - -
100.0i 66.7! 66.7 100.0{ 66.7: 33.3! 66.7, 33.31 100.0{ 33.3] 33.3 - - -
HEZERT 7 6 3 6 5 1 3 4 2 - 4 - - -
100.0; 85.7! 42.9, 85.7, 71.4: 14.3] 42.91 57.1] 28.6 - 57.1 - - -
SEYRET 11 7 7 3 4 4 3 4 3 2 1 1 - -
100.0i 63.6/ 63.6; 27.31 36.4: 36.4, 27.3| 36.4i 27.3] 18.2 9.1 9.1 - -
=THEET 26 15 15 11 12 10 16 10 14 12 9 - - 3
100.0f 57.7! 57.7, 42.3] 46.2] 38.5! 61.5| 38.5! 53.8! 46.2] 34.6 - - 11.5
Bz RET 15 10 8 7 6 8 9 6 9 9 4 1 - 1
100.0i 66.7, 53.31 46.7, 40.0: 53.3] 60.0/ 40.0{ 60.0, 60.0/ 26.7 6.7 - 6.7
4 EET 10 4 5 3 1 3 3 4 3 4 2 2 - 1
100.0i 40.0f 50.0{ 30.0{ 10.0: 30.0{ 30.0/ 40.0{ 30.0/ 40.0{ 20.0; 20.0 - 10.0
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[31 BEFEOYJ775—HEEOICDL)
T COPT—FURICEREFES -BERE

Bt Y—ThhIZEHM>TLELIED, R A(ER)
TES: % (Z1E)
UF | & | &
=2 L2 5
= cC =T AN Fiiid
EdH W H [
Ny | &= | 2 =
s | B EZn | k=
M | s
% | wig
£ K 2031 3 1757 1795 58
100.0 0.1 8.6/ 88.4 2.9
EEn 775 2 87 673 13
100.0 0.3 11.21 86.8 1.7
#Rimm 305 1 23 273 8
100.0/ 0.3] 7.5/ 89.5 2.6
LR 211 - 12 191 8
100.0/ - 5.7, 90.5| 3.8
Hem 99 - 7 88 4
100.0 - 7.1 88.9 4.0
1\FkT 781 - 3 72 3
100.0/ - 3.8 92.3 3.8
B 76, - 6 70 -
100.0/ - 79/ 921 -
E R 26, - - 26 -
100.0/ - - 1100.0 -
FaEth 54 - 2746 6
100.0 - 3.7, 85.2 11.1
200 27 - 2 25 -
100.0/ - 7.4 92.6/ -
=R 52| - 6/ 45 7
100.0/ - 11.5| 86.5 1.9
=RET 12 - - 11 1
100.0/ - - 91.7, 8.3
E=M8T 41 - 3 37 1
100.0 - 7.31 90.2 2.4
il 12 - 1 11 -
100.0/ - 8.3 9.7 -
=ERET 45 - 3 42 -
100.0, - 6.7 93.3 -
HEET 37 - 2 31 4
100.0/ - 5.4, 83.8, 10.8
KB 70 - - 70 -
100.0/ - - 1100.0 -
AIET 13 - 1 12 -
100.0/ - 7.7 92.3 -
JI =BT 31 - 2 27 2
100.0 - 6.5 87.1 6.5
EREET 17 - 1 16 -
100.0 - 5.91 94.1 -
PS)1 BT 38 - 4 33 1
100.0 - 10.5{ 86.8 2.6
SRR 3] - 1 2 -
100.0 - 33.3] 66.7 -
HEZRT 7 - 2 5l -
100.0 - 28.61 T71.4 -
SEIPRET 11 - - 10 1
100.0 - - 90.9 9.1
=T AET 26, - 4 22 -
100.0 - 15.4] 84.6 -
He & 15 - 3 10 2
100.0 - 20.0f 66.7. 13.3
Fatoprilil) 10 - - 9 1
100.0 - - 90.0f 10.0
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